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Copy and complete each problem below. Set your working out clearly as you have been shown.
Rename the remainder as a fraction.

[1] 795 + 11 = [2] 850 + 4 = [38] 881 +5 =
[4] 948 = 3 = [5] 984 + 5 = 6] 1047 + 4 =
[7] 472 + 12 = [8] 581 + 4 = 9] 675 + 5 =
[10] 833 + 11 = [11] 944 + 5 = [12] 1035 + 6 =
[13] 969 + 4 = [14] 994 + 5 = [15] 1110 + 5 =
[16] 786 + 10 = [17] 870 + 4 = [18] 940 + 4 =



ANSWERS
Division

Copy and complete each problem below. Set your working out clearly as you have been shown.

Rename the remainder as a fraction.

[1] 795 + 11 = [2] 850 + 4 =

72 3/11 212
[4] 948 + 3 = [5] 984 +5 =

316 196
[7]1 472 + 12 = [8] 581+ 4=

39 1/3 145
[10] 833 + 11 = [11] 944 + 5 =

75 8/11 188
[13] 969 + 4 = [14] 994 + 5 =

242 1/4 198
[16] 786 + 10 = [17] 870 + 4 =

78 3/5 217
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[3] 881 +5 =

176
[6] 1047 = 4 =

261
[9] 675 +5 =

135
[12] 1035 + 6 =

172
[15] 1110 = 5 =

222
[18] 940 + 4 =

235

1/5

3/4

1/2



